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QUESTION 1

Which of the following statements about the bandwidth allocation criteria used by an egress port scheduler is TRUE?
A. The available bandwidth of the port is divided in a strict priority over its children.

B. Expedited queues must be serviced before best-effort queues.

C. Orphaned queues are serviced on the 8th scheduling priority.

D. The configured CIR dictates the maximum port bandwidth that can be allocated during the within-CIR pass for that
level.

Correct Answer: B

QUESTION 2
Which of the following statements about burst-limit of a queue is FALSE?
A. Burst-limit sets a limit on the maximum burst of packets transmitted during each scheduler visitation time.

B. Proper configuration of the burst-limit can prevent packet drops on the downstream nodes resulting from traffic
bursts.

C. The lower the configured burst limit value, the lower the burst allowed to enter the queue.
D. If the burst-limit is not configured, a default burst-limit value will be used by the queue.

Correct Answer: D

QUESTION 3

Which of the following parameters is taken into account FIRST when a CFHP arbiter allocates bandwidth among its
children policers?

A. PIR

B. CIR

C. Level
D. Weight

Correct Answer: D

QUESTION 4

Which of the following are possible criteria for classifying packets at the network port ingress on the Nokia 7750 SR?
(Choose three)
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A. The EXP bits in the MPLS header.

B. The packet\\'s source and destination IP addresses.
C. The packet\\'s DSCP bhits.

D. The dotlp bits in the frame header.

E. The ID of an SDP that is transporting the packet.

Correct Answer: ACD

QUESTION 5

In a Nokia 7750 SR, which of the following is a class type that is intended for non-real-time customer traffic that requires
some committed bandwidth?

A. Gold

B. Assured

C. High Priority
D. Best Effort

Correct Answer: C
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